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(SEM. II) (ODD SEM.) THEORY
EXAMINATION, 2014-15
DATA STRUCTURE USING '

Time : 3 Hours] [Total Marks : 100
Note: Attempt questions from each Section as per instructions.
SECTION - A
1.  Attempt all parts: 2x10=20

(a) Differentiate data structure and data type .
(b) Write is basic concept of Prim's algorithms.
—~ (c) What is tail recursion?

(d) What is compaction?

(e)  Distinguish between internal sorting and external sorting?

( How many maximum comparisons required in searching
an element in a binary search tree?

(g2) What will happen if a binary tree is left oriented or right
oriented?

(h)  Write over flow conditions for circular queue.
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6.  Attempt any one part: 10x1=10
(@) Write an algorithm for sorting a set of integers using
quick sort. What is the case average time complexity
of the procedure?
(b)  Find the single source shortest path form the following
graph using Dijkstra's algorithm

7.  Write short note on any Two the following: 5x2=10
(a) Data and Information
(b) Storage device
(c) File organization
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